6.5 & 5.4: (Inverse Trigonometric Functions and Their Graphs)

— — T
If sec™! 2 + cos 1x=;,thenx=

~ |G

If [—6,2] is the domain of f(x) = —3sin™? G — k) — g, then 4k =

A) -2
B) -1
C) 4
D) -6
E) 2



cos™ (o5 (7)) -



If secd = —?and cot® = /3, then a value of 6 is

A) 210°
B) 240°
C) 225°
D) 150°
E) 330°

If cscO = —gand cotd = ?, then a value of 8 is

A) 240°
B) 210°
C) 225°
D) 330°
E) 150°



Which one of the following statements is TRUE?

A) tan(tan~1(—11)) = —11

B) tan~! (tan 4—”) =3
3 3

C) tan~! x is an even function

sin~1x

D)tan™!lx = —
Cos ~Xx

T

E)tan"1(—1) = "

o (-D)-
CSC 5 Sin 5 =



Which one of the following statements is TRUE?
=1 E . .

(a) sin (5) is defined

(b) tan(tan™* 100) is undefined

(c) cos (cos‘1 (— %)) = %

-
(d)tan~1x = 222

cos™lx

1

(e) The functions y = cos™ x and y = sin~! x have the same range

4.7 1 1),
The exact value of sin~1 (sm ?n) + tan (cos 1_ E) is

()—2—V3

(c)=+v3
()%~ 1

(e) —=++3



(o 2) -

191

If the domain of f(x) = m + 5cos™? (g + b) is [3,7],then2b + 1 =

A) -4
B) -5
C) 4
D)5
E)6



_ 107 .
The exact value of cos™1! (cos T) is

E) undefined

The range of y = —cos™1(1 — 3x) — 7, is

A) [-2r, —r]
B)[m— 1,7+ 1]
a[-3-3
oo



_ 5 :
The exact value of cos™1 [cos (Tn)] is

D) -~

E) undefined



. 3\ .
The exact value of cos (sm 1 (— E)) is equal to

(a)z



From the adjacent figure 8 =

A) tan~?! (%) —tan~?! (3)
e

C)tan?! (g)

31
C)——
3
D) ”

E) undefined




Which one of the following statements is TRUE?

A) tan~?! (tan %n) =tan~! (tan g)

B) sin~?! (sin 5?”) ==

C)tan lx = (Sinx)_l

COsS X
D) cos ™ (cosx) =xfor—1<x <1

E) y = sin"! x is an even function.

T

If arcsin (y — %) = then y is equal to:




_ _1[_ 31 _1[ 371]
Sin SIn—| — COS COS—| =
5 5

3 T
_1 _ . . _1 _ —
tan (tan 2 ) + sin (sm 4)

A) 0



The domain D and the range R of the function f(x) = m + cos™}(x — 1) are

A)
B)

,2] and R = [m, 27|
,2] and R = [0,2m]
,1]and R = [m, 2m]
,1]and R = [0,27]

0,2]and R = [—m, ]

1
1

[0
[0
[-
[-
[

A) D
D
C)D
D)D
E)D

If the domain of the function f(x) = % — 3sin™1(2x — 3) is [m, n]. then

m+n=

A)3
B) 4
)2
D) —m






_11 . . I
The value of cos™? >+ sin 1 (sm ?)

Z
old

The range of the functiony = §+ 2cos7H(x + 1) is:

u[z2]

2’ 2
B) [0, ]
C) [0,2]

D) E— 1,2+ 1]

mw 31

e) |-, 7]

2’ 2



If arctan\;—§ = x and arccos (— %) =y, thenx +y =

: . _ 15
The solution of the equation cos™ x + tan™?! o

Il
I
=



Which of the following statements is FALSE?

A) the domain of y = cos™1(x + 1) is [0,2]
B) tan(tan™! x) = x, for any real number x.
C) therange of y = 2sin" 1 x is [-, ]

D)sin"'x +sin"!(—x)=0,-1<x<1

E) cos™! (cosg) = ’Z—CifO <x<2m

The solution set of the equation 2cos™?! (%) = 2mis

A) {mr — 3}
B) {m + 2}
C){4 —m}
D) {2m — 3}
E) {r}



The graph of the function y = gtan‘1 2x — g has

A) range = (—g, —%), domain = (—o0, o)

B) range = (%,%), domain = (—o0, 00)

C) range = (—%,g) domain = (—o0, 00)
T T .
D) range = (—5,5), domain = [—1,1]
. w1

The domain of the function y = % + 2sin™?! Gx — g), is

0[]

B) [n, m
3




The range of the function y = % + %sin‘1 (

s
B [5-55+3l
A (-e5=3lv[+3 )

X — —
3

2)is:



